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1.A 2.D 3.D 4.B5.C6.B7.A8.C
9. (3 )

Au 'ers()‘

(=) EBT

10. (1) (2) (3) ( 3 )
11. Cu  FeSO, AgNO;

Cu+2AgNO~=2Ag+Cu(NOy), ( 2 )
12 CUSO4+5H20=CUSO4 5H20

Fe+CuS0,=Cu+FeS0,) ( 3 )
13 (I)A Na2C03 B BaC12 C HCl D Ca (Ng) 2
(2)Na,CO;+BaCl,—BaC0;1 +2NaCl1( 5 )
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( 3 )
(2)
2 )
( )
( 1 )
15. (1)a. b.
(2) OH,0m2% 21,040, H,
(3) «( 7 )
16. (1)
(2) ( 2 )
17.C 3 )
e Vi BiEE A
B D AF 2 25
B 1 M4
B 1k W

18. x(0.5
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(1) :
(55. 7g+36. 5g) —90g=2. 2g (1 )
(2) Na,C0;+2HC1==2NaCl+H.,0+C0.t (1 )

117 44
X 2.2¢
7 _ a4
x 2.2
x=5.85g(1 )
5.85¢ Y=g 5O
%0g < 100%=6. 5% (1 )

6.5%(0.5 )
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2002

H-1 C-12 N-14 0-16 Na-23 C1-35.5 Ca—40

( 12 1-8
1 9-10 1 2
2 1

1.

pH( )
A. 7 B 7 C. 7 D
2. C )
A. B C. D
3. +7

)
A.NaCl  B.NaCl0O; C.NaClO D.KC10,

4. ()




% %\ W\ 5 X
A !2/3 B. }/a C @}/3 D fzj
5. 200g20% 10%
C )

A.160g  B.200g C.360g D.400g
6.
)

R N R

A.SO, N; NO, B.CO, CO N
C.CO CH, H D. S0, CO NO.
¢ )




A. Fe+H,S0,( ) =FeS0,+H,1

B. KNO;+NaC1=KC1+NaNO03

C. Cut2AgCl1=2Ag+CuCl,

D. Ba (OH) ,+CuS0,=BaS0,) +Cu (OH) ,¢

10. (
A. Ca0 CaC0,[
B. NaNO; Na,S0.4[
]
C. Cu0 I
D. Cu Zn [

( 1 12 )
11. Na,CO; CuSO,  Ca(OH),
12. “ ”

13. NHNO, KC1 CO(NH,),

KNO,




14. 20

Cs Hiz Os
15.
LAY |
W\@ 10C | 20C | 0T | 4C | 0C | 0T | T
| #R
NaCl 35.8¢ | 36.0g | 36.3g | 36.6g | 37.0g | 37.3g | 37.8g
KNG, 20.9g | 31.6g | 45.8g | 63.9g | 85.5g 110g 138g

(1) KNO,  NaCl

( )
(2) 50 100g 90gKNO,
(3) 10 NaCl
KN03 ( “ ”




N,

16.

17. (2

18. (3

19. (3
(1)

)

)

)

H,

(13

N,

CO

CO,




(2)

(3)

20. 3 )

SRR
B
L AT H R
Imid BKES

m’ ARG

T G % | ERRen e : -
itk
‘e mma R
21. (2 )




2 (

2 )
(15 )
22. (3 ) (H,0.)
MH02< )

(1) ( )
(2) o
(3) -
23. (7 ) NaCl Na.S0,

Na2C03 CUSO4 MgClg




NaOH

(1)

(2)

LA LHAR
24. (5 )
( )
10mL E# X
BE JEAMR NaOH B

g#ﬂﬁl!! . Y]




(1)

227¢g

9.AD

(2)
(3)

CO,

NaOH

25. (7

7 )
)
53g 20%

: (1) ?

(2)

1.C

11. (3
12. (1

2.B 3.D 4.B 5.B 6.A

10.D

)Ca (OH) 9 CUSO4 Na2 C03
)

30g

7.C

8.D




13. (2 )KNO, 35%
14. (1 )
15. (3 ) (1)20 30 (2)185.5g( ) (3)

16. (2 ) ( H, SO,
17. 2 )
CO, ( ) 1 )
CO, (  Co, )

18. (3 )

(1 )

(1 )

19. 3 )

(1) 2KMn0, 2K Mn0,+Mn0,+0,1
(2) Fe,0,+3C0EROFe+3C0,  (
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Fe,0,+4C0 BB 3p6+400,)

(3) 2H,+0,2%911,0

20. 3 ) : (1)
CaC0O; NaOH (2) Ca(OH), Na,CO, (

2 )
21. (2 )
(1) : (
) (
)
(2)

22. (3 ) (1) 2H:0,.% 0,1 +2H,0(1 )

(2) ( ) (3) (

)

23. (7 )M @ ) :
NaCl  Na,SO, (1 ) NaCl Na.SO0,

2 G )
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TRER ) B 4) #ie(14)

OEALRBE, MAKHR | Exa6rE | FBES NaCl HR
f&,Wiin Ba(NO, ), MM (1 | £ aasn | FRWEH NasSO,, 7%
) NaCl

@i tn it fit 69 Ba(NO, ), JFU B 7 B NaySO, 1 NaCl
WW(LS) e, mEBh | EREAUIE | AR

M0 AgNO, FFHL(1 4) HEBBUE | &K S Ns,SO, Hm

24. (5 ) (1) ( )
(2) CO, NaOH ( CO,+2NaOH=Na,C0,+H,0)
( )

(3)S0.( SO, HCI NH, )1 ) KOH[

Ca(OH), Ba(OH), ]
25. (7 )
X vy Z
CaCl, + Na, CO, = CaCO, ¥ + 2NaCl
111 106 100 117
x 53gx 20% y z

111 X 100 _

BL.. & .. . NS, IV
106~ 3gx 0% *=118  jo6™Sgx% Y108

117 _ z
106~ 53g x 20%

B G B AR PR R R 30g-11.1g+ 11.7g=30.6g
30g+227g+b3g—

z=11.7g
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10g=300g

%Uﬁ'{—ffx 100%=10. 2%

11. 1g
10. 2% ( 7
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18

2002

H-1 0-16 K-39 1-127
( 9

\/t_‘

w P O wWE MY 0w

H,




2002

CO CH,

W E oD 0OwWE D0 WwE DO ®m >

. NaQC03

+2

+2

(C.H;0H)




AX+50, 5 ANO+6H,0 X

Py

AN, B. NO,

C. NH; D N.0s

8. 100g
¢ )

B 10g

C 50g

D.




2002

A. B S 2H,0 2—0H, A +0, A

B. AL AL SR 25,0, ==2H,0 + 0, }

C. REERRRAF ISR 2KMnO, =K, 1ia0; + MnO, + 0, 4
D. SERH N4 53 % : 2KCIO, E—?zm +30, 4

( 5 19
20 4 21 23 3 18 )
10. : ( 1 )
(1)
KA1(S0.).- 12H.0

(2)1985

( 7) Cs0

( )




2002

11.A B C
2 ( 1
A. B. C. D
mA Fe
| I
A |ARS g | BARRS ] o | BANCHBE [ ko
l !;;am I
12. ( )
( )
2 (
(1)
(2)
(3) ( )
13.




2002

8
( ) @ @2 )
14.
(
)
( 2 24 5 25
1 9 )
15.
( 9 )

WALES T iR




2002

(DB - -
(2)C -
(3)E - E
_(
)
16.
(
)
KRS e _ ERAER
ik wewe | (DEEBEE
BIE HEAR , (1)
QHBEE Wik | (2 (2)
M BWE KK .
G )
17.
(K10s) ( 0.1)

(1)




2002

9.B

(2)
1kg

I.B 2.A 3.B

10. (D43 (2)

11.Cu Cu0 CuSO, Cu(OH),

A Fe

4.C

5.D 6.A

I AA O AR H:50,
W B
o
e T
i

12. (1) CaCO,H#Ca0+C0,1

(2) Ca0+H,0==Ca (OH) ,
(3)MgCl,+Ca (OH) , == Mg (OH),

0 A NaOH 8

0. 1bmg

7.C

e ———f

'Ie.ﬁﬁﬂi
e J

+CaC12

8.D




2002

Mg (OH) 2+2HC 1==MgC 1 2+2H20

2

13. Ba (OH) » (

)

14. (1)
(2)
(3)
(4)
(5)
(6)

15. (1)
(2)
(3)
16.

(2)

(1

)

(1)




2002

(1)
(2)

17. (1)
_LE R e 127
KIO, 3 HI % 4 F i it =214
(2Nkg B SRMOFR R

0.15mg x | x 10° mg
=21.4
7% 10" mg L g

() (

x 1000 =59.3%

(34)

(245)
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